Apartment in Santa Venera



Reference No: 240011080-506

Santa Venera, Central



€290,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): **105**

Bedrooms: 2

Apartment - For Sale - Santa Venera

Located in the town of Santa Venera, this 2-bedroom apartment (plus study) offers approximately 100 square meters of space. The property is situated on a quiet road near the city center and forms part of a block of a small block of two units. Requiring some renovation, this apartment presents a great opportunity for those looking to customize and make it their own. No lift. Freehold. For more information and to book your viewing please contact our agent

Features

- Ceramic Floor
- Electricity Utility
- ✓ Balcony

- Water Utility
- Skirting

Rooms

✓ Double Bedroom : 3.5 x 4.5 m (15.75 m2)

Open Space : 2.4 x 0.95 m (2.28 m2)

✓ Sitting: 4.7 x 4 m (18.8 m2)

Office / Study : 2.7 x 2.2 m (5.94 m2)

Bathroom: 2.26 x 2.5 m (5.65 m2)

✓ Hall : 1.25 x 5 m (6.25 m2)

Kitchen: 3.6 x 4.7 m (16.92 m2)

Open Space : 1.84 x 1 m (1.84 m2)

Double Bedroom: 3.75 x 4.7 m (17.63 m2)

Gallery











Elton Laferla RE/MAX Premium - St Julian's

M: 79079415

E: elaferla@remax.com.mt

T: 21384508

RE/MAX Premium - St Julian's

72/73, Gorg Borg Olivier Street, St Julian's, Malta